Question Paper Title : TI_17

Date of Exam : 12-07-2019 10:00 AM

Reference 1D:(10469)

Answer:

Reference 1D:(10500)

Answer:

Reference ID:(10730)

Answer:

Choose the appropriate prepositional phrase for the given sentence:

If you don't hold the string tightly, the balloon will

A.blow away
B.blew away
C.blow off

D.blown away

A.blow away

Ueld aTRER A Sfutar garg fAaer.
WIS Tl DIGU! -

AR STHAT G0

B.H&™ % AIgH HISUl HIaul
C.UHHD I TS s dTe PHRUI
D.SUYSRIE! STviid = aul

B.HEM % AIgH HISUl HIa0l

U1 SIRTAE 4 Uiy, 5 AT 30T 6 fUae Td g SMigd. siaaqed
GHTH DT g2

A.3/5
B.2/5
C.5/3

D.5/2

A.3/5



Reference 1D:(10463)

Answer:

Reference 1D:(10498)

Answer:

Reference ID:(10726)

Answer:

Reference 1D:(10482)

Choose the appropriate articles to complete the given sentence:

My grandmother told me an interesting story that had characters of
____young boy, _ mouse, and umbrella.

A.the, a, a, an

B.a, a, a, the

C.the, the, the, an

D.a, a, a, the

A.the, a, a, an

HIUTAT 2 Ay U0T 9R™ 3_gdrd?

A fgtar sfor gymn
B.IYHT 30T Tl

C.fgciar anfor agalf
D fgitan for gatan

c.fgciar anfor gl

Sia-aw@ 81 31U IRR, Sled, Td HTOT fgveai=n AR SM1for Aored STt
3T ST, WeTeUd! HIUT Sita-Ta@rd] JHR ATgl?

A SiaTda

B.E Sfia¥i@

C.& SilgT9d

D. S Sifad@

A SiIddd

TTeld areTedta URAd eara foft 3iesar.
AT SR BT ST,

A g

B.TIfeiTT



Answer: AT

Reference ID:(10725) Ul I-glcdIdId W gURT Aot Uig=dl HITSIURIH S-ddiall dq drRudry
T fao ST d, HRUT UieT

A IO He MY AT T WRIddD
B. W ITH YYD 31101 He WIadd
C IV ]NYHa! ATel 10T TRIAd e A6

D.3WIqdl Ydgdh

Answer: A I HE XMV 10T FTAT TRTd b

Reference ID:(10499) RT3 U ‘&' a1 quife afdrsed w142
A.Jg guf
B.XdciA quf
C.H3R auf

D.311e guf

Answer: B.Idd4 9uf

Reference ID:(10951) T sARAHE Tfte = ?é‘tﬁmiilﬂt?(a{ré'm _ e Sefy 29t
4 S 3

HIeX 3G, g1 Holed™ ©d Uigedl Aoledaall fhdl 3= 3187




Answer:

Reference ID:(10478)  faeed- el favaf qreg sficsw.

D.Hsdh

Answer: B.7Teq

Reference 1D:(10461) Choose the option with the appropriate prefix to complete the given
sentence:

| stood as the runner in the running race.

A.fore-
B.pre-
C.for-

D.bi-

Answer: A.fore-

Reference ID:(10714)  YRArH T3 FaSU[e SR HRIGTES ! SRIAI?

A4 Ty
B.5 9%
C.6 a%
D.8 a¥

Answer: C.6 aﬁ



Reference ID:(10465)

Answer:

Reference 1D:(10492)

Answer:

Reference ID:(10731)

Answer:

Reference 1D:(10453)

Choose the most suitable determiner for the given sentence:

You can buy these maps at bookstore. They all have them.

A.a lot of
B.several
C.some

D.any

D.any

B.3dI
C.AgHt
D.gRI

ATl

Ueh] JHE 6 G} 3101 8 fiaes <ig 3igd. d IifTe figesa Ta sftr
el HUUl Th dg BIadl 1Idl. Uil og Heudr YHH HIel?

A.3/7
B.7/3
C.217

D.7/2

A3/7

Choose the option that has the correct spelling for the missing word in the
given sentence:

you use it or not, you will need to pay for it.

A.Whether



B.Weather

C.Weathar

D.Wehater

Answer: A.Whether

Reference ID:(10718)  HTE 2019 AL T-Hc A=l Hed- d3d Yearged RGOl A8 bt
i A1d Fim?

A o= et
B wRIshH
C.for=M gran
D.fPr=r an

Answer: A Free et

Reference 1D:(10458) Fill in the blank with the correct noun for the given sentence:

The method of training one’s memory with images is called

A.visuals
B.visualizing
C.visualization

D.visions

Answer: C.visualization

Reference ID:(10710)  PIUTT auHL YRmHERd fodT=r Tiam IaHT d SFRA daaig fgHGTR
fobeat g1 dhetl TaT?

A.1857
B.1803
C.1761

D.1707

Answer: B.1803



Reference 1D:(10744)

Answer:

Reference ID:(10702)

Answer:

Reference 1D:(10456)

Answer:

Reference ID:(10747)

3 B Thard b ey UHUl 8 fdbhdl 10 s vart dureddr 3is:

A.1/6
B.2/9
C.2/3

D.1/4

B.2/9

26 ThgaR! 2019 AL YR STIULH BracR fAMH! Uifddrdid oRl-U-
AIgHe =07 UrRTeuT RIFSRTGR gl Bl T SR A1d 9.

ABRAE
B.dTdI®IC
C a5l

D.AER

EINIEI

Choose the correct form of adjective for the given sentence:

India is a noble, gorgeous land, teeming with resources.

A.tremendous
B.natural
C.supernatural

D.excess

B.natural

o1 fafRry feaxh, ST BRET 1 SieR SRR 45 30U 31107 1 3T WU 3
I 31T <R G, degT HIAThS 99d Bad 21,000 ST Bld. Arde! Ht 200
STeR faod gadt 3MfvT AfRad I U A9 YuTd Wd Pal. aR &l TIeRId
AT s fadl T 3MTe 3RIdTa?

A.63000 o9
B.54000 T

C.45000 T



Answer:

Reference 1D:(10724)

Answer:

Reference ID:(10719)

Answer:

Reference 1D:(10473)

Answer:

Reference ID:(10477)

D.36000 I

D.36000 I

YRATHE GA¥h] SFTiddh dRRTAT fEHTuNH THur H-HAT BRI 31T8?

A.100
B.37
C.58

D.61

B.37

27 TgdRT et IRMT, HRA SIOT <F =T (SRS TRIY HATT 16 AT FHT
DI SR TSI bl el glar?

A.goTe
BTSS!
C.Ye dieder

BRCANIE

A.goTed

Choose the correct form of verb that is in agreement with the subject:
Five rupees an excessive price to pay for a pen knife.

A.are

B.is

C.have been

D.are being

B.is

“dd T SAgad I AT 3NBIdd URAd Jsararat gt uaa e,

ATTH !
B.I



Answer:

Reference ID:(10733)

Answer:

Reference 1D:(10740)

Answer:

Reference 1D:(10496)

Answer:

c.faumT

D.qclqd

U®H GHMGER 7820 ¥UTTd ATHM VX! HRd! 1T ATt fbd 25% Td

A.1955 30T
B.9775 ¥W
C.8885 ¥
D.9255 T

B.9775 303

3f AI¢T U1 eI IR drIid HRd TR § dlc! T erdbiar el arid goi Rapret
Hd. SR T G5! dicd] U d3] ST 3941 R ol Clh! 3adT dBTd HRT:

A2 d
B.15 d¥
C.18 dMN

D.21 d¥

A2 d

Yeld diaiided v o 3=y orel.
JGhITd Tgdich Td AV XTI FTAT; - TGAD I Y51 SHRIS! Uiel.

A SYdT

B.Id

C.PRU

D.qdd

B.Id



Reference 1D:(10455)

Answer:

Reference 1D:(10454)

Answer:

Reference ID:(10707)

Answer:

Out of the following options, choose the rightly punctuated sentence.

A.The secretary maintains the step-by-step procedures of all processes.
B.The secretary maintains the step by step procedures of all processes?
C.The secretary maintains the-step-by-step procedures of all processes.

D.The secretary maintains the step by step-procedures of all processes.

A.The secretary maintains the step-by-step procedures of all processes.

Choose the appropriate option with the correct punctuation marks for the
given sentence:

she said im going to meet my grandmother

A.She said ‘Im going to meet my grandmother’
B.She said, “Im going to meet my grandmother”
C.She said, “I'm going to meet my grandmother.”

D.she said I'm going to meet my grandmother.

C.She said, “I'm going to meet my grandmother.”

3 Ufeh U= hatd WAl Y. TRNTARA Slad i+ [RaaT Yaaaed uds
CUHTAR AT 3T HHI PRUIMIS HERTY
NSRS fTegm e gO=a1 AT B8 UTdhd SgdTeH o,

A.3RATTETE

B. A%

c.ayf

D. TR

A.STRATETG



Reference ID:(10709)  qaTumHete HI0Td AAGRIY 2019 =T Wb THT AU A HiddT T
SHCARTHT WSS Sl AreiT AR Xl Tl dliR heiid

S g 3T IS YHIgTH YA He XHd?

A JFETH
B.fAemamETe

C.aIEIG
DRESCASIRIE

Answer: B.femHEe

Reference 1D:(10750) wmmﬁ@ﬂmmm

000 L4 1e
L 2ol _ . dele
ol 1 ol 1 _

Answer:

'I’::I.{ﬁ}
®OC
00

Reference ID:(10475) Choose the correct form of tense for the given sentence:

For how long you French?

A.are, learnt

B.have, been learning



C.had, learning

D.was, learned

Answer: B.have, been learning

Reference ID:(10485)  Jeld dTad argd AR aTeT Siesl.
AT IATR 7S] YShaail.
B.dl TR TS Ysehal.
C.d IR ST YShadl.

D. T ITATER TSl YSHdal.

Answer: AT IR ST YSHaa,

Reference ID:(10489)  3fURfd fohamugian amg UeR sfiew.
T TAI-AICId] araad! Jad 3T,

AT
B.TAISIHh
c.anfed

D. |

Answer: c.ardg

Reference ID:(10736)  TRIR} DIl
59, 65, 78, 78, 98 & 72

A.98
B.56
C.65

D.75

Answer: D.75



Reference ID:(10706)

Answer:

Reference ID:(10717)

Answer:

Reference ID:(10743)

Answer:

Reference ID:(10720)

TR 1 AT DRI, 1985 T HIVT HAATIER, HERTY Tl
YRy Jaehi=a Jd Jdl FebRuT<dl STedid Ul AARIbS I Uaredrd §d
3MfIPR 3rcilel?

ADPdH 10
B.®cH 15
C.hclH 11

D.®c¢H 18

B.hclH 15

U -2018 HEA QUI A RTPTE Tsh & RIS 31
(MILEX -18) {TAISTd ShRuaTd 31Te giel.,

AdTH
B.sileuATHdISH!
C foreg

D.3{U%

B disguruydiega

Teh] GHRHTA 200 UTgUI Bld, 60% UTgUIH! RMBIERT SIdUl Ydld, 50% UTgudi=il
HIGGRI SIqUl Udd, 30% UTgUdiHt QMbTERT S0 HABRI Gal UbRe Siaul
Iadd. IR JARHIA fdbd aigol 9 Siaard Tia?

A.30

B.35

C.40

D.45

C.40

Td AT eigare Ufeth=e dird UidraR Il .

A.1818 UIgH d 1827
B.1817 UR[A d 1826
C.1815 U d 1825



Answer:

Reference ID:(10729)

Answer:

Reference 1D:(10466)

Answer:

Reference 1D:(10459)

D.1816 UG d 1826

A.1818 UL d 1827

Tl A lesigdes arar Sfor WTe feeiedr Uy IR 1.

L,M,N,P,Q, R, S, 301 T 8 3T& I BhgHIN dig B MATHR
CATHIAd! S 3Ted. Q BT P 3101 R 91 ASRY ATEL. M 8T T =1 SldidhgA
SR 3{Tg 0T P =T IoTdidh g [o¥RT 3T8. R 81 N AT STdidhg (¥R 378,
Sl @iE T 91 STdids 3MTg. L 81 P &1 Ioldidh g gurl 31T

e Wetd SiiediUdh! BIud! SISl T 20T SR 3178,

ANQ

B.MN

C.QS

D.RP

A.NQ

Which of the following options best combines the two given sentences?

| was tired of walking. | wanted to take rest.

A.Wanting to rest, | was tired of walking.
B.Being tired of walking, | wanted to take rest.
C.As | was tired, | was wanting to rest.

D.l being tired of walking, | took rest.

B.Being tired of walking, | wanted to take rest.

Choose the appropriate collective noun to complete the sentence:

The workers needed to open the locked chest of drawers.

A.a carton of instruments
B.a set of tools

C.a bunch of tools



Answer:

Reference ID:(10713)

Answer:

Reference ID:(10732)

Answer:

Reference 1D:(10476)

Answer:

D.a packet of tools

B.a set of tools

FATAUD! PHIUTAT HGH 2017-18 THHE "19 IV Hd TBR PLed”
fSfepatr?

Afaay

B.4TE

C.faet

D.geRIeTE

Afagy

Ueh] fAshe™ Ueh UM 1040 ST W o], TTAT SHfdvd HeTaR 20% Je
faedTdR T 20% =TT gid). GRATH! Sifdd fdhad Pl

A.1456 ¥UT
B.1800 3T
C.1560 ¥Ud
D.1248 ¥UY

C.1560 3T

Choose the option that best expresses the meaning of the highlighted
idiom/phrase:

The busy traffic entrance was a hazard to people walking on foot.

A.Peddlers
B.Footpath
C.Pedestrians

D.Persistence

C.Pedestrians



Reference ID:(10495) I Xeg ATURT.
EIUIG 3| I3 [ [—— 3 drd.

AT
B.3M

C .
DI

Answer: AT

Reference ID:(10705)  Wcitaides! HIvfl sfferdrs AT gHa it ST géld e sieget
U IU AR AR Righean fRgadiar sarg sRumt arl arfie
IR Y1 DB AR ei?

A famre auf
B.FHa AR wi
C.fowa s
SRICIECIUCE|

Answer: INCEREE]

Reference ID:(10497)  Ueld Jald aITdId favmfer g 3ficr.
SR TgTasTeraran fasmeif-ufcfel s,

Answer: A TN

Reference ID:(10486)  Jaldl dleddld Se,RATAR 3ficsl.

A SHIRIYTeTT



B Tdl
C.diTl

D.edl

Answer: C ATl

Reference ID:(10741) U fdehdl 20% TR <A1 HIAT [deh! ! SATOT e df 1 fopdl Uasit

800 UHd To dTURd!. AT THUT TR ThhdR] HIGI?

A.40%
B.45%
C.50%

D.55%

Answer: C.50%

Reference ID:(10491)  GeId dTeRITcfiet S{odTel UehR 3fiesal.
3181 BRT SR BIsd dead el Hall!

A BIayNt sreug
B RTecTfl 3reqy

C fopanfarivu sreqy
D.IHITIT 30y

Answer: A BN 3y

Reference ID:(10479)  faaicdl- Xsaierqd favarl <req afieswr.

A 3Ugad



C.3Mugad

D.HelT

Answer: B.$AIH

Reference 1D:(10472) Choose the most appropriate usage to fill in the blank in the given sentence:

The Chief Guest asked the graduating students not to their
worth.

A.estimate

B.reestimate

C.underestimate

D.estimation

Answer: C.underestimate

Reference 1D:(10493) TTeTd - SUMRT e, Il

A.Tfgar

B.HIddl

c.gue
D.¢fie

Answer: D.¢e

Reference ID:(10711)  S-UdId U ediaiid GUTRA HaT g dauamIe swheld Iurds, fiiex sfor
TR A ST SeRAC BRI G HeRIPHANT Td TR

TEUH S0 ST,

AU $g
B.98/dl RIaR
cframFg



Answer:

Reference ID:(10723)

Answer:

Reference 1D:(10452)

Answer:

Reference ID:(10745)

Answer:

Reference ID:(10722)

D.g-UH

ATTH $g

WeleUs! HIuma Has AU gicd A1 TR 39 SHicRTY™ Al SIeR
URYCER SI. SRR HESHR Aldd GRIBR 2019 = FHIT bl Tai?

AJURI PAR
B.3RR ®R

C | s
D.af=n g

A YUY PHR

Choose the option that has the correct spelling.

A.Existance
B.Existence
C.Existanse

D.Existanc

B.Existence

20184 W1 YUl I HRUGRATST ATHYA ol BIVIRT T AT A8 TRSHT 3Tg:

A.34
B.20
C.14

D.30

B.20

oy U 1 B9 IHaRT=Al Fasue Indl SURRd Mg e HERTY
METGR THIT! U HIUrAl &I ugar fHaifed dbet?

AR argd
B. R $UR



Answer:

Reference 1D:(10494)

Answer:

Reference ID:(10746)

Answer:

Reference ID:(10701)

Answer:

C.AMR &
D.HgIaR g BRTe

ATRYE glcd

et araiadie faRior sfiear.
T Sdeseiaes Ui BT HIFArE SHTR Us.

AR
B.SIdGlddd
C.3 R

D.h1H

B.SIdoduidod

Tdh AT T AT gUT 3Tg. Sicg] a1 AT 50 T Ioll bl STl
A1 s TR et 8t 8T YT 40 HYH doll dhedTaR [HesuT=aT YBIUE 2
= iU 35 TR W AeH YA ___ 37T%.

A7
B.8
C.6

D.5

B.8

Teid IR qafaTdiie 3 drasER Fder.
et TedTaR 3Yd TP Haredld JuSal.

AZFS 3T fawe fagk go
B ATHTRTeS g0

C. 3N pHlcard
D.3{TSTaT Uled Ursul

AZHE IS fape fagk g



Reference 1D:(10470)

Answer:

Reference 1D:(10481)

Answer:

Reference ID:(10471)

Answer:

Reference 1D:(10474)

Choose the correct form of conjunction for the given sentence:

That route is dangerous; , we have no guide.

A.likewise
B.consequently
C.besides

D.however

C.besides

feeprian St Ot Rt e S eree; quf .

INGIE]
B.US!
cImet

D.dld

c.mst

Choose the correct form of conjunction for the given sentence:

| want you to reach the venue the Chief Guest arrives.

A.and
B.since
C.before

D.till

C.before

Out of the following options, identify a simple sentence.

A.Do you know him?
B.Has he ever met you after school?

C.Did you see him before your school?



D.Is he as hard working as he looks?

Answer: A.Do you know him?

Reference ID:(10488) TG TIidTel fAdS .

Answer: A.Qlléa

Reference 1D:(10457) Choose the correct form of adjective for the given sentence:

George was a opponent, and | respected him for that.

A.formidable
B.dreadful
C.forbidding

D.threatening

Answer: A.formidable

Reference 1D:(10484) gcs‘\m IR YhR 3.

ATt
B.FY a1
C.Igad aI’

D.%dd a1

Answer: D %ad dId



Reference ID:(10708)  dhaid HAl el et git AY SieredT SITUMAT Sex-HIed RIS
(TITHTY) AT SMURMRIAT Saeah:

AgO
B. T

C.gd

Answer: B.ANTYR

Reference ID:(10737)  Tel! faaied IR uiiah! SHITdT U= Wrelt feeiean oAl Srgeuot Jed
ATe1?

5 Commercial Street
E1 6BF

LONDON

UNITED KINGDOM
(+44)207/4228400

(i) 5 Commercial Street
E1 6BF

LONDON

UNITED KINGDOM
(+44)207/4228400

(i))5 Commercial Street
E1 6BF

LONDON

UNITED KINGDOM
(+44)207/4228400

(iii) 5 Commercial Street
E1 6BF

LONDON

UNITED KINGDOM
(+44)207/4228400

(iv) 5 Commerclal Street
E1 6BF

LONDON

UNITED KINGDOM
(-44)207\4228400



B.ii

C.iii

D.iv

Answer: D.iv

Reference ID:(10742)  Udhl QEdehTall 3/8 U HI UehT faadrd araa S1for Afgeied G&ihTa 4/5 U

91 fea=i arerdr. 30 U dramr! Ricde Afge! &t o) &A1 &bl ThUl
fobalt Ut 3rcilaT?

A.440

B.340

C.240

D.140

Answer: C.240

Reference ID:(10487) ‘< TIcaras dT URI&T SIART SRATT SHTe5l.

A RATd
B.dRATd
C.dreA1d

D.3-3’ATd

Answer: A dRATd

Reference ID:(10728) T 3118 SHTIOT foreaT HaiteaT aam UIRR fIehH 5:2 31Tg. SR aNTAe i
AT TUMHR 1000 3, TR 10 IHHR TS I HaT?
A.50 T
B.60 a&
C.80 &
D.100 a%



Answer:

Reference ID:(10749)

Answer:

Reference ID:(10716)

Answer:

Reference ID:(10735)

Answer:

B.60 d%

&R 75 fhdHaR 3 ffe Yig Tt Xea= 100 fohdl/dr Taean SRERT 3
m?ﬁ%mwwmoﬁﬂaﬂaww S IRELIRIGAGE
focit ?

A.6 a1 24 faife
B.6 ¥ 21 fifAe
C.6 a9 18 fife
D.6 A 15 e

B.6 d 21 fAfAe

misrareTe 3Y 10 AR, 2019 s 1 50 a1 RO fGad THARY
STAISTd HRUTTd AT i,

A T YREf S (SHTHU)
B.UE¥ HIHT 9 (THTe)
C.haIT IE1a Ui §d (HSRUTTH)
D. g FENT JREM & (FSITHUP)

D. 41 I YR&T & (1AL ITH)

THT A THae Thad 25 U 31107 50 TR A0f 3ed. SR f=mes 20
S el U 48 AT0f 3idie, R forearers Ude YR fabdt Aol
?

A.20, 28
B.18, 30
C.16, 32

D.14, 34

C.16, 32



Reference 1D:(10460)

Answer:

Reference ID:(10721)

Answer:

Reference 1D:(10483)

Answer:

Reference ID:(10727)

Choose the option with the appropriate prefix to complete the given
sentence:

The manager promised the tourists that they would get a fund if they
did not like the services.

A.pre-

B.re-

C.mis-

D.pro-

B.re-

HRRTYMHT IS gTeTs Hare R T e

A.HSYTS
B. IR

C.3i5
D.Teox

A HSYATS

Jeid arTe UdhR Sieswl.
3 SHT =Tt Urguft et 3fdr o FHeomar o

A gt
B.fay o
C.Igad ared
D.had a1

C. GG a1’

3T I SO U107 i gaf=h sRiet 100 9 318, 5 JuIYdl did 99 SigshH
2:1 1 TUTIRTT Bid. 10 TR ITH ST Yo aiem g Hafd oiR s
3d?

A.5:3

B.4:3



C.10:7

D.3:5

Answer: A.5:3

Reference 1D:(10462) Choose the appropriate articles for the given sentence:

It was cold morning, but group was heading towards
colder region.

A.the, a, a
B.the, a, the
C.a, a, the

D.a, the, a

Answer: D.a, the, a

Reference ID:(10734)  TIUT= UT6Y GRads 3rcied Ul QI gl 2 fasall 400 UH 3118, SR
TTOTdT=AT Uehl UTaY QRAhTd doiH 300 JH 3rd, dR T e favd urey qrad
3{Tea?

A8
B.10
C.12

D.26

Answer: A8

Reference ID:(10739) Wy fawgran St &1g argel ga?
ABABCABCDABCD?

AA
B.E
C.H

D.S

Answer: B.E



Reference 1D:(10467)

Answer:

Reference ID:(10715)

Answer:

Reference 1D:(10490)

Answer:

Reference ID:(10703)

Choose the correct form of modal auxiliary verb for the given sentence:

We respect our elders.

A.ought to
B.can
C.might

D.may

A.ought to

YTHAT -4 (JI-VAN) TioT-d quf 91d ST 3182

A.Si1d EYF-TATaRT 3R Hd A=Y FaRul

B.SIdT S1$UH aTdTeRUl 3% d Hdl RN (AR
C.51d ST aTaTarul 3Ed Had ARy fAar
D.STdT $Y dIATaR0 S d ARy (ARl

A ST SYF-adTeRT 3hd Had IR Harur

fPAMIEI IR ST aig U (a8 B,

A3t

B.q
cd

D.<lt

A3l

fecett <amaTea™ sifadpe dRys Rig g fave RIS TRadu@® Sfor
S RIel! ATTH SHT HRUGTE 3RIY dldd, d o Aol G- HAT id.

A feara uew
B.gfamn
C.SIRIES

KIS



Answer: A fear=a uewr

Reference ID:(10480)  SlIe¥lsq A9cdl Xeg 3Hical.

Answer: D.WW

Reference ID:(10704)  WTAIcU! 1Tl HRIFH Tdebial ARI ekl TRIBR 2019 7 FHIAI Pl TaA?

A T Hga

B. %! 3Rfdg fRims
C.faem w1l
D.<i&H! Agell

Answer: AT ﬁ%?ﬂ

Reference 1D:(10464) Choose the correct form of verb for the given sentence:

Greeks lively discussions and so, bantering and debating very
much part of their national personality.

A.enjoying ...are
B.enjoys ...is
C.enjoy ... are

D.has enjoyed ... are being

Answer: C.enjoy ... are

Reference ID:(10748) P © 37 & Q T STATAT 20% U 3MT8. Q I I § P =T Scqarued fact
% FHH 3Mg?

A.18.54%

B.16.67%



C.17.76%

D.15.75%

Answer: B.16.67%

Reference 1D:(10738) SR T =20, TEN =39, QX TIP =?

A.70
B.45
C.54

D.65

Answer: B.45

Reference ID:(10468) Choose the appropriate prepositions for the given sentence:

Kerosene is one the products made refined petroleum.

A.of ... off
B.in ... through
C.of ... from

D.of ... out

Answer: C.of ... from

Reference ID:(10712)  "3TUch [T JaYd SMUHR e g1 deu B
YR AU WibRa T,

A STHAT dgFR dfdem™
SR RIERICOIE]
C.3iReferard dfau™
D . Sifegucd Jfaer

Answer: ASHAR aé'ﬂR Tfaem



